RERE-AIVITRERRISOVTHEER A

D4/6EBH ettt L
8fmh
100Bg/ kg% X 5L D0
BREHEE

No BT EA HElniELE trL-134 t 9 L-137 EEE
Ba. kg Bg. kg Ba ke

1 wmem R4.4.7 =S| BREE9(<7.6) BHEE9(<6.7) BRHEEY

2 wmET R4.4.7 =SS BREE9(<7.8) BREE3(<74) - Janpcc

3 EERAH R4.4.7 =SS BREE9(<8.8) BREE9(<8.0) - Janpcc N

4 B ET R4.4.7 =SS BREE9(<9.1) BRHEE9(<8.0) - Janpcac N

5 o EXET R4.4.7 =SS BREE9(<9.8) BREE9(<7.6) - Janpcc

6 B ET R4.4.7 =SS BREEI(<11) BREE9(<7.3) - Janpcc N

7 EZAmH R4.4.7 =SS BREE3(<9.1) BRHET(<6.5) BRHEY

8 N /N ] R4.4.7 =SS BREEI(<7.1) BRHEE9(<8.3) BRHEY

BaBEE B2 —REBEROEEE 9L 100Bg/kg(t>HL-134, 22 H L-13TDOEE(E)




RERE-AIVITRERRISOVTHEER A

@4/1LED WEtEES S L
185
100Bg/ kg% X 5L D0
BREHE

No BT R HE HElniELE trL-134 t 9 L-137 EEE

Ba. kg Bg. kg Ba ke
1 SEIRTHET R4.4.8 =S| BREE9(<7.3) BREE9(<7.5) BRHEEY
2 SRR THT R4.4.8 =SS BREE9(<8.1) BREE9(<7.6) - Janpcc
3 SRR THT R4.4.8 =SS BRHE9(<8.6) BREE9(<7.8) - Janpcc N
4 KT R4.4.8 =SS BREE9(<8.2) BREE9(<7.2) - Janpcac N
5 & T R4.4.8 =SS BREE9(<7.9) BREE3(<74) - Janpcc
6 KT R4.4.8 =SS BRHEET(<L7.9) BRHET(<6.9) - Janpcc N
7 SRR ET R4.4.8 =SS BRHE9(<8.6) BRHEE9(<6.4) L Janpcac N
8 SRR ET R4.4.8 =SS BREE9(<7.2) BREE9(<6.4) L Janpcac N
9 SRR ET R4.4.8 =SS BREE9(<84) BREE3(<84) L Janpcac N
10 LWhEm R4.4.8 =SS BRHE3(<10) BRHEE9(<8.0) L Janpcac N
11 T BR AT R4.4.8 4R BRHEET(T) BHEY(<6.8) BHEY
12 T BR AT R4.4.8 LSS BHE9(<8.8) BRHE9(<8.6) BREEY
13 lIET] R4.4.8 LSS BHE9(<8.9) BRHEE9(<7.0) BREEY
14 lIET] R4.4.8 LSS BRHEE9(<9.2) BRHE9(<6.7) BREEY
15 1+ R4.4.8 4R BRHEE9(<8.6) BRHEET(<L78) BREET
16 AIIET R4.4.8 4R BRHEE3(<7.3) BRHEE9(<7.2) BHEY




BRERER

No b1 FEH APlniESE i 1-134 t 9 L-137 EEE
Ba. kg Ba. kg Bqg. kg

17 =FEIRTHET R4.4.8 LS| BRHE3(<8.8) BRHEE9(<7.0) BREEY

18 Zth R4.4.8 =S| BRHET(<85) BRHET(<5.6) BRHEY

BREEEICBIT2—BEROEEE L :100Ba/kg( S L-134, 229 L-13TOEE(E)




RERE-AIVITRERRISOVTHEER A

®4/8EBS ettt L
1&@
100Bg/ kg% X 5L D0
BREHEE
No BT EA HElniEsE trL-134 t 9 L-137 EEE
Bg. kg Bg. kg Ba ke
1 AL R4.4.8 =S| BREE9(<9.6) BREE9(<7.9) BRHEEY

BRBEEEIZBT2—REROEEE £ 9L :100Ba/kg(E>H L-134, £ 9 L-13TDOEEE)




